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V = a*b*h
O = a*b*2+a*h*2+b*h*2

V = Gf *h
Gf = W[s*(s-a)*(s-b)*(s-c)]
s = (a+b+c):2

0 =Gf*2 +b*h +c*h +a*h

V = r2*Pi*h
O = 2*r2*Pj + 2*r*Pj*h

V = a%*h
3
O =a%+a*ha*4

2
ha = W[h?+(a/2)?]

V = Gf*h
3
Gf =a*ha *6
2

ha = W[a%-(a/2)?]

0 = Gf + a*ha,*6
2

ha; = W[h?+ha?]

V=a*a*a=2a3

O =a*a*6
V = Gf*h
Gf = a*ha *6

2
ha = W[a?-(a/2)%]
0 =Gf*2 + a*h*6

V = a*b*h
3
O = a*b + a*ha*2 + b*hb*2
2 2

ha = W[h2+(b/2)?]
hb = W[h?+(a/2)?]

V = Gf*h
3

s = (a+b+c):2

Gf = W[s*(s-a)*(s-b)*(s-c)]

O =Gf+a*ha + b*hb + c*hc

2 2

2

ha, hb und hc missen gegeben sein

V = P*pi*h
3
O = r?*Pi + 2*r*Pi*s
2

s = W[h*+r?]

V = a*b*H —al*bl*hl
3 3

O =a*b +a1*b; + (a+a1)*ha*2 + (b+b1)*hb*2

&

2
ha = W[hy?+x?]
X= (b-bl)ZZ
1 hb = W[h;2+y?]
y =(a-a1):2

2

V= rlz*Pi*h - rzz*Pi*h
O = (r®*Pi— r)2*Pi)*2 +
+2*r*Pi*h + 2*r,*Pi*h

V = r2*Pi*H — r?*Pi*hy

sy 3 3

0= r12*Pi + rzz*Pi +M

M = 2*r,*Pi*s - 2*r,*Pi*s,
S1 2 2

s = W[h%+r;?]
$2 = W[hi+r5%]

Alternativformel fiir den Mantel:
M = 2*Durchschnittsradius*Pi*s1

2

V =a*b*(h/2) *2
3

1 ha = W[(h/2)%+(b/2)?]
hb = W[(h/2)?+(a/2)?]




